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I T BA I AT A TE I 3 * 41 664 7 506 33 777 84.0 17.1 66.1 T BA I AT A TG 3 * 41 664 7 506 33 777 60.0 12.5 46.9
B 7263 1334 5871 13.2 2.9 10.2 B 7263 1334 5871 13.2 2.9 10.2
PFREAY * 11521 1922 9 484 22.1 4.4 17.5 OF * 11521 1922 9 484 22.1 4.4 17.5
B = = MR % 4768 879 3846 7.5 1.6 5.8 BAJRE 2 = MBI 5 4 768 879 3 846 75 1.6 5.8
PEERIN = o M % 10 509 1872 8 534 17.2 3.7 13.4 (Rl o = N % 10 509 1872 8 534 17.2 3.7 13.4
AT — e R - - - - - - AT Y — e 2R - - - - - -
AETEFH R B B N * - - - - - - AETEFH R B B E SN * - - - - - -
AR RE I RN 17 3 13 0.1 0.0 0.1 AETERERE M RSN 17 3 13 0.1 0.0 0.1
BEBEIIM RSN GR * 250 54 194 20.9 4.5 16.2 BEREAIHAHI NG * 250 54 194 20.9 4.5 16.2
E RIS RE RN * 50 12 38 0.9 0.2 0.7 E RIS RE BN * 50 12 38 0.9 0.2 0.7
FOINAEA T - DB IR BR B IINGR * - - - - - - FOSMIEA TH) DB IR BE SIS * - - - - - -
AR EER] A S AN * 0 0 - 0.0 0.0 - AR EER A S AINF * 0 0 - 0.0 0.0 -
PN 3793 816 2 954 20.6 4.4 16.1 PN 3793 816 2 954 20.6 4.4 16.1
JEAE AN 7 1 6 0.9 0.1 0.8 EAE AN 7 1 6 0.9 0.1 0.8
PRINERER T INE (1) * 0 0 0 0.0 0.0 0.0 FREMEREP 7 TN (1) * 0 0 0 0.0 0.0 0.0
FRIENERERY S AN () * = - = = - = FRENIE R NG (1) * 0 - 0 0.1 - 0.1
AR AR TR AN (1) A * 89 18 71 7.4 1.5 5.9 P— AR PLARE TR AN (1) A * 431 83 345 24.0 4.6 19.1
P AR TR AN (1) 7= 65 13 51 10.8 2.2 8.5 P— AR PARE TR AN (1) = * 89 18 71 7.4 1.5 5.9
H— AR TR AN (1) * 35 7 28 5.8 1.2 4.6 H— AR AR TR AN (1) * 65 13 51 10.8 2.2 8.5
H— AR TR LN (1) * 2 660 459 2176 9.4 2.4 6.9 P AR A RN () * 35 7 28 5.8 1.2 4.6
I B A E A (1) 166 28 136 0.8 0.2 0.6 IR B LB L EMR (1) 2 660 459 2176 9.4 2.4 6.9
IR BB S E N (1) 33 6 27 0.3 0.1 0.2 IRk B LB YGE IR (1) 166 28 136 0.8 0.2 0.6
St B AL SN (1) 3 1 3 0.0 0.0 0.0 IR B LB s N (1) 33 6 27 0.3 0.1 0.2
IR B LB SGE N (IV) 2 1 2 0.0 0.0 0.0 IR B LB SE N (V) 3 1 3 0.0 0.0 0.0
I HEN BB SE IR (V) = = = = - = IR B LB SE N (V) 2 1 2 0.0 0.0 0.0
T BRI IR AR i * 5 582 896 4524 5.8 1.1 4.5 T BRI i * 5 582 896 4524 5.8 1.1 4.5
PP AR I AR AR BREEIUR (BE D 7x) * 0 - 0 0.0 - 0.0 TRBEIRE AR I R AR BR R AL (R Be D7) * A0 - A0 0.0 - 0.0
[ BT R (B 72) * 0 0 0.0 0.0 0.0 % Pl R ORBED #) * A 0 A A 0 0.0 0.0 0.0
IR SR BRI O 4) * 0 - 0 0.0 - 0.0 IR R (BB O #4) * A0 - A0 0.0 - 0.0
B HRHIRE AT O &) * - - - - - - B FRGRE (I TT O &) * - - - - - -
IR BRI BR BT ( 1) (IR D7) * 0 - 0 0.0 - 0.0 I RO AR BRI (1) (= PEDA) * A 0 - A0 0.0 - 0.0
I R R (1) (r# e D #4) * 0 - 0 0.0 - 0.0 IR IREBR AR BB (1) (N EHEFEDH) * A 0 - A 0 0.0 - 0.0
TR UGBS RERE B *x 86 033 25 574 60 185 12.2 5.2 7.0 T B/ RS B RER B A+ 86 033 25 574 60 185 12.2 5.2 7.0
T B/ RS B RER B A+ 63 510 16 965 46 369 12.2 5.2 7.0 I T B/ NS B RE R B % 63 510 16 965 46 369 12.2 5.2 7.0
I TR HNR R * 60 10 45 0.0 0.0 0.0 T BE IR ARSI ek 60 10 45 0.0 0.0 0.0




